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1. Fillomino 5 points

Dissect the diagram into areas and write a number in every field. The numbers in one area have to
be the same and give the number of fields in that area. Areas of same size may not touch horizontally
or vertically, but can diagonally. Given numbers may belong to the same area, and it’s possible that
there are areas where no number is given – even with larger numbers than the ones shown.
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Answer key: Enter the content of the two rows marked with arrows from left to right.



2. Skyscrapers with mixed information 5 points

Enter a skyscraper of size 1 to 6 into each cell, in a way that in every row and every column every size
appears exactly once. The numbers at the borders give either the size of the first skyscraper or how
many skyscrapers are visible from that direction; lower skyscrapers are hidden by larger ones.
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Answer key: Enter the content of the two rows marked with arrows from left to right.



3. Islands 10 points

Blacken some of the cells in the diagram in a way, that all black cells are connected and no 2× 2 area
is blackened. The remaining white cells are islands. Every island contains exactly one number which
denotes the size of that island. Cells with numbers may not be blackend.
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Answer key: Enter the content of the two rows marked with arrows from left to right; use S for a
black cell and and W for a white cell (and cells with numbers).



4. Arrows with Numbers 10 points

Write a digit into each arrow such that each digit indicates the number of different digits the arrow is
pointing at. For arrows pointing in more than one direction, the digits from all these directions are
considered together.

 

 

3

 

 

 

 

 

 

 

1

 

 

 

 

 

 

 

 

 

 

 

 

 

4

Answer key: Enter the content of the two rows marked with arrows from left to right.



5. Double Mine 15 points

Place some mines into the diagram in a way, that every row and every column contains two mines and
no two mines touch, not even diagonally. The numbers give the number of mines in the adjacent cells.
Cells with a number may not contain a mine.
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Answer key: Enter from top to bottom for every row the number of cells between the two mines.



6. Masyu-Fences 15 points

Draw a closed loop along the dotted lines. Not all edges have to be used. The numbers in the cells
give the number of connected edges, that are used by the loop. The loop may not touch or cross itself.
The path must turn at every black circle but cannot turn immediately before or after and the path
cannot turn at any white circle but must turn immediately before and/or after.
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Answer key: Enter for all areas, that are outside the loop, the number of cells used by that area.
Start at the top left and go on clockwise.



7. Magnets 20 points

The grid is made up of magnetic and non-magnetic plates. Each magnetic plate has two halves: one
positive (+) and one negative (−). Halves with the same symbol cannot be horizontally or vertically
adjacent. The numbers outside the grid indicate how many magnetic halves of each kind can be found
in that row or column.
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Answer key: Enter the content of the two rows marked with arrows from left to right; use + and −,
as well as N for neutral halves.



8. ABC-box 20 points

Write a letter A, B or C into each cell of the diagram. The clues at the border give the letters in that
row or column in the correct order. Every clue denotes one block of equal letters. A letter tells which
letter this block is made of, a number gives the size of the block and a question mark indicates that
neither of these pieces of information is given.
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Answer key: Enter the content of the two rows marked with arrows from left to right.



9. Urn Puzzle 20 points

Put the letters from A to Z (without Q) into the five urns so that each urn contains five letters. If one
letter is taken from each urn and rearranged then the words in the word list can be made.
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Wordlist: BIRNE, DISCO, EMAIL, FUTON, HARFE, JACKE, KURSE, PASTE, WAGEN, ZWOLF

Answer key: The letters in the urn with the I in alphabetical order, followed by the letters in the
urn with the E in alphabetical order.



10. Galaxies 20 points

Dissect the diagram along the grid lines into areas. Every area has to contain a circle and has to have
180 degree rotational symmetry about the circle. Ignore the letters in the circles, they are only needed
for the solution code.
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Answer key: Enter the number of cells of all areas with circles with letters in alphabetical order.



11. Incomplete Kakuro 25 points

Write the digits from 1 to 9 into the fields. The description of a “word” gives the sum of all digits in
this “word”. In every “word” each digit may occur only once. Some descriptions are missing; they are
not needed.
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Answer key: Enter the content of the two rows marked with arrows from left to right. Ignore gray
cells.



12. Hexagonal Tapa 25 points

Paint some cells black to create a continuous wall. Number(s) in a cell indicate the length of black cell
blocks on its neighbouring cells. If there is more than one number in a cell, there must be at least one
white cell between the black cell blocks. Painted cells cannot form three hexagons meeting at a point.
There are no wall segments on cells containing numbers.
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Answer key: Enter the content of the two rows marked with arrows from left to right; use S for a
black cell and W for a white cell.



13. In-the-Shadow-of-9-Sudoku 25 points

Enter numbers from 1 to 9 into the diagram, such that in every row, column and bold bordered area
each digit appears exactly once. The numbers at the border give the sum of the numbers, that are
beyond the 9 in that row or column.
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Answer key: Enter the content of the two rows marked with arrows from left to right.



14. Particle zoo 30 points

Draw a laser beam into the grid, that splits at the places marked with a star (see below for details),
that nowhere crosses or touches itself. The arrows show, where the beam enters and leaves the grid.
Place some mirrors at some intersections of the grid, such that every mirror is hit by the laser beam
exactly once. The beam is reflected by the mirror at 90◦ angle.

The beam uses every intersection with a star. At this place the beam splits into two with the new
breams deflected 45 degrees either side of the original line of travel of the beam.

The numbers on the left and top tell you how often the laser beam passes through a cell of that
row/column. The numbers on the right and bottom tell you how many mirrors you have to put on the
corresponding line.
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Answer key: Enter for every arrow, that points outside the grid, the number of mirrors used for that
part of the beam. Start at the position of the arrow, that points inside the grid and continue clockwise.



15. Subway 30 points

Draw a map of an underground of a city (with horizontally and vertically lines from centre to centre of
the fields). At the centre of a field the lines may turn or branch. The whole map is connected. There
are no dead ends. The underground cannot leave the grid. The numbers at the borders tell, how often
the corresponding shape is used in that row or column. The pieces may be rotated. Fields may stay
empty.
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Answer key: For every row enter the number of lines, that leave that row downwards.



16. Tents – off Target 30 points

Enter tents into some of the fields so, that every tree belongs to exactly one tent that is located
horizontally or vertically adjacent. Tents do not touch each other, not even diagonally. The numbers
at the borders give the number of tents in that row or column.

Note: All numbers are off target, which means that they are either one smaller or larger than they
should be.
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Answer key: Enter for every row the number of tents in that row.



17. Slalom with Large Cells 35 points

Put a diagonal wall into every field in a way that no completely closed areas occur and all groups of
lines are connected with the edge of the grid in at least one place. The numbers in the circles tell you,
how many walls touch this circle.
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Answer key: Enter the content of the two rows marked with arrows from left to right; use O for a
wall, that goes from bottom left to top right and U for a wall, that goes from top left to bottom right.
Treat large cells like one cell.



18. Four Times as Easy as. . . 40 points

The puzzles consists of four diagrams with variations of “as easy as puzzles”, that are connected with
small numbers. In some cells there are small numbers. These cells may not be empty, cells with the
same number have to contain the same letter.

In all four diagrams the following rule is true: Enter the letters from A to C into the diagram so that
in every row and every column every letter occurs exactly once.

The first diagram (top left) contains a normal as easy as: The letters at the borders indicate the letter
that comes first in the corresponding row or column.

The second diagram (top right) is a n-view-as easy as: Next to the letters at the borders, there is a
number. This number tells, if the letter is the first or the second in that row or column.

The third diagram (bottom left) is an as easy as off target, where all letter at the borders are off by
one in the alphabet.

The fourth diagram (bottom right) is a two sided as easy as, where the letter at the left side of the
grid is located somewhere to the left of the letter shown at the right side of the row. Similarly, the
letters above the grid will be located somewhere higher than the letters shown at the bottom of the
grid in the same column.
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Answer key: Enter the content of the two rows in both diagrams marked with arrows from left to
right.



19. Islets 60 points

In your mind divide every cell horizontally and vertically. This results in four quadrants. Now blacken
one of these quadrants. Quadrants that are connected vertically and horizontally are called islets. The
islets may not touch, not even diagonally. The numbers inside the grid give the number of quadrants
that touch that number. The numbers at the borders give the number of all quadrants that belong to
islets that have at least one quadrant inside this row or column.
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Answer key: Enter for every row the number of black quadrants that are in the upper half of the
cell.



20. Pentomino 60 points

Place the 12 shown pentominoes in the diagram in a way that they do not touch, not even diagonally.
The pentominoes may be rotated and mirrored. The numbers at the borders give the number of cells
in that row or column that belong to a pentomino. Some empty cells are given as crosses.

6 6 5 3 7 5 3 6 5 4 6 4

7

6

5

4

1

9

2

5

8

3

2

8

Answer key: Enter the content of the two rows marked with arrows from left to right; use S for a
black cell and W for a white cell.


